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1. Find the divergence of A=4 yz —éyx2 +4,3xz. (10% )

2. Prove the identity Vx(VV)=0. (109% )

3. Given
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find the expression for a unit vector C that is perpendicular to both A and B. (109% )

4. Determine the value of the following integral:

[ﬂtan(ﬂz) dz, c:|z|=1. (10%)

5. Find the Fourier integral representation of the following non-periodic function:

T T
cos(g), ——<O<—
f(0) = ©) 2 2. (10%)
0, otherwise
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6. Find the (a) eigenvalues and (b) eigenvectors of A = {9 6} (10%)

7. Find the inverse transformation. (109 )
Y1 =X, —2X,
y, =4X, —3X,

8. Please find the Laplace Transform of f(t) = %(e‘at sinawt) (109 )

9. Please solve the initial value problemof y" +y —2y =0
where y(0)=4,y(0)=-5  (10%)

10. Please give a general solution of the given nonhomogeneous ODE of
X’y —2xy +2y=x>cosx (109%)



